Efficiency vs P,

+0.05) T T
o : : :
L B e
> N N N
D004 --ereeivreeeeeas Beeeeeeennd e
[} : :
9.035
(]
0.03]
0.025F-+++-eesiereeeenne R RRIE e
0.02F -+ P Feeeeeeeeen e
0.015F oo o S
001 F i S S
0.005

o 0F L |||||||! L |||||||! L inn

2 E

© o 1 N H

m 1-05__"' I 2 M o P
15—---1 --------------------------------------

0.95

=

o
iN

=

10 . Gedf’

it_sTe, asel new eom
g{le —ste) 2‘tt a§ asel-n eom

DM ulf( Tl ST ttar-pirase-rewgeomT
r-phasel-ne
§ p| eTCPETEmp?at% step2 t‘ggr pWasel newgeom

= 0.5

............................

o
o
D
TTTTTTTT[TIT T[T IT[TTIT[TTTT[TTTT[TTITT[TTTT
I I I I I I I I I
. .
N N
h 4
. N
4 N

SN YU CT DU P M LY
T F | |
R | 1 :
1 HTLHE ; ;
E X §

02 -2 -1 0 1 2 3

TP n

Efficiency vs ¢

o0.05F -
o B i i
e R Sl S
(8] . . . . . . .




	Contents
	Page 1


